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Read the following passages and answer the items that
follow each passage. Your answers to these items should be
based on the passages only.

CDS (1) 2013 Set-A - Passage-1

Galileo desired to use his telescope to make more
discoveries in the heavens, but his instrument was too
small. He made another and larger telescope which
magnified eight times, and then another which
magnified thirty times, and pointed it at the moon. His
heart leaped with joy, for he saw what no human eye
had ever before seen - ranges of mountains, deep
hollows, and broad plains! He turned his telescope on
the planets, and found they appeared with disks like
the moon at a quarter full. He turned it on the Milky
Way, and beheld innumerable tiny stars.

103. Galileo made several telescopes because

a) he needed all of them to explore the heavens

b) he wanted to compare the findings obtained from
different telescopes

c) the earlier ones he made were not powerful
enough

d) only some of them could magnify the stars

104. When Galileo saw what no human eye had ever

before seen he
(a) was overjoyed
(c) felt humble

(b) was shocked
(d) was very proud

Official answer: 103 -c 104 - a

freferiaa uReoe) ®! ufey 3N Uedes uReoT & 31 31T+ arat
wgien & ST S | 37 HHien & 319 SN 37 ufvTeel v &t
JTeTRT 81 a1fey |

CDS (I) 2013 Set-A - Passage-1

iefiferar ameprer & iR 3ifier @ v & QIO
AT BT SUART BRAT ATEAT AT, AfhT IABT IUHRT
TET BICT AT | I T 3R Y XA I18 Y 3173 AT
afife @at o, 3R fiRR @ SR, S T T smaftia
Felt oY, 3R S T fY 3R SR fpar | ST g
el & Sod TSI, Fifh ST a8 @ o uger fomedt
AR I 7 G 9T AT — qdd ey, T |rsar
3R 9t AT | I TEl Y MR AU A gTE, 3R
ara o o Gep =iterrs quf sear SRt v & e g <
T | I SN ATHTEAT At AR GAR, 3R IR BT
ARt &Y 3@ |

103. efifera ¥ & R I1Q FANfp

(a) S 3ATHTET & WIS &b Fo1g S Wl it srrareararar of

(b) aF T AT & o sl & gaT H=AT
TTEaT AT

(c) SO Sl U8 §9Y o, T qaf erfepermelt & &

(d) ST A Pael PV & ARI BT IMERIT B T o

104. YeNfer = &« aY 2@ ot oA I 3riva <Y ugel
P ST @ o7, Y a8

(a) g e g3 (b) =iYep T
(c) e wewgw fma (d) & TS o

CDS (1) 2013 Set-A - Passage-2

My father was passionate about two things: education
and socialism. He was himself a born teacher. Indeed,
he could never restrain himself from teaching, and as
a small boy | was frequently embarrassed by his desire
to instruct everybody - people in railway carriages, for
instance - though | realized even then that it was an
innocent desire, quite free from vanity. He was equally
ready to receive instruction. Education, to men of his
generation and temperament, was something it has
largely ceased to be nowadays. It was the great golden
gateway to the enchanted realms of the mind.

105. The author wants us to know that his father
(a) was aschool teacher

(b) was an educationist and socialist

(c) used to travel a lot

(d) loved teaching

CDS (I) 2013 Set-A - Passage-2
X far @ 2 ol @1 eite o7 : Rrer SR wHoEE |
T Up ST 121818 & | 9 o, 98 Yo W Y off
T BT AP TE IR , SR T BIC TSh b @9 T H &
fopeiY @Y - IaTERUT & foTg, YT feeal # 43 AR @Y - Frder
3 &Y ITH 3TBT W ST Qrffar BT o - ETATRE T AT
ft I8 e oI % I8 ST U A geoT o, O THe o
et g o | a8 frcer ome &e & forg off 9 o @
ﬁww@rﬁl I NET 3R FauTa F Ar F g frem
T WY AT oft ST 3ToTcher BT &€ P & 81 TS B | TS
7 & ST 8151 T eI Ao et F1R o
105. oG & Ig ST ATeaT & fop S frar
(a) Ueb et et o1
(b) e Rrenferg siik wHTOM@TST &
(c) 98 ATAT BT &
(d) 9T U¥g AT
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106. The author often felt embarrassed by the
behaviour of his father because

(a) he taught badly

(b) he taught even at odd places

(c) he wanted to show off his learning

(d) he lost self-control while teaching

107. To the generation of the writer’s father,
education was

(a) an old fashioned enterprise

(b) the result of god teaching

(c) an exploration of the world of imagination
(d) one aspect of socialism

108. From the passage it is clear that the author
(a) loved and admired his father

(b) disapproved his father’s love of teaching

(c) thought of him as vain

(d) considered his father’s education inadequate

Official answer: 105:d 106:b 107:c 108:a

106. oGS IR 37U e & R F erffer 7w
BT AT FANP

(a) STBI 9 AT W USRI

(b) =B e F=r Y ox oft T

(c) T8 319 frem Y @ arer o

(d) USTY T S 3MTeH-ferizor @t

107. S F frar A Nt & ferg, e of
(a) T IRT STHT &7 Sed

(b) IR FT fRrem @1 gfRome

(c) T &Y i+ T T

(d) FHTSTATE &7 U Uge].

108. 9T & IE ¥UE & for orE®

(a) 39 T | IR SR e i

(b) 379 AT o fRT810T & R BT SRANBR B f&r
(c) S e |AH=T

(d) 319+ fre &t fRrem 1 Irqafe AT

CDS (1) 2013 Set-A - Passage-3

We started looking on the ground for blood, hair, or
a drag mark that would lead us to the deer killed by
the tiger. We had proceeded a hundred vyards,
examining every foot of the ground, and going dead
slow, when Mothi, just as | turned my head to look at
him, started backwards, screaming as he did so.
Then he whipped round and ran for dear life, beating
the air with his hands as if warding off a swarm of
bees and continuing to scream as he ran. The
sudden and piercing scream of a human being in a
jungle where a moment before all has been silent is
terrifying to hear. Instinctively | knew what had
happened. With his eyes fixed on the ground,
looking for the blood or hair of the kill, Mothi had
failed to see where he was going, and had walked
towards the tiger.

109. Mothi and the narrator were scanning the
ground because

(a) they were looking for the tiger

(b) the forest was full of unpleasant surprises

(c) they were trying to discover the tiger's
footprints

(d) they were looking for marks left by the tiger’s
prey

110. Mothi began to scream when he
(a) was attacked by a swarm of bees
(b) was frightened by the sight of blood
(c) came face-to-face with the tiger

(d) stumbled on the tiger

CDS (I) 2013 Set-A - Passage-3
T N W= @, 91 a1 giie S & freme Y e
% PR &Y, S & AT FRT AR Y &R0 a0 of 9 | &9 4t
TS 3R 9 <, ST & &) Pe BT Fiemr #va gY, AR
A 1T A 3T §E W A, T A, S € 3 ST ek
@ & g 7oA R guma, a8 919 @1 3R ST & 3R
foeam & | fiRR g% srETee ST 3R 9 g9 & forg
geT, 37O ETRIT W g4 @Y fied gy AT AYAiREl & S
P T IET 81, 3R Sea I Rieatrdr &7 | Sier § S
Ueh Uel Ugel b W9 PO 2T AT, &7 €T Top ST bl
Tt §5 ARG YT WATGE 1T & | e B F T o
ofT f &RaT gaIT T | JYOT ST SPfiT ok feapTy g4, 3R T
& G AR qTeAl Bl qarer &, 7kt I8 <= A et w1 o
IE PET ofT XaT &, 31X ST bl 3R =7l 7T 2T |

109. FreiY 3R FHATATED STHIA BY ThT PR ® A FifH
(a) T T HY TAT PR

(b) SFTeT JIBRT MRS | WRT AT

(c) & STer & ORY P fFrermT @i Y PRI PR @

(d) I 9TEr P PR FRT BIS MY 121 B Femer R

110. At 7 e g% fopar o

(a) S R TYATREAT & S 7 g fepa o
(b) T T GBS AT AT

(c) T8 STH & ATA-ATH TRIT AT

(d) T 9T W BT AT
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111. In the context of the passage ‘kill’ means
(a) the act of killing

(b) an animal killed by the tiger

(c) ahuman being killed by the tiger

(d) awounded tiger

112. Before Mothi screamed, the jungle was
(a) quiet  (b) dark (c) noisy  (d) terrifying

Official answer: 109:d 110:c 111:b 112:qa

111. Terier & e F T b aref &
(a) &IT BT

(b) SITEN ERT HRT T SIER

(c) ST STRT WIRT IR™AT AT

(d) U 9IS ST

112. Heit & RIeeT W Ugel SivTel T AT

(a) T (b) 3&RT (c) AT (d) FITHH

CDS (I) 2013 Set-A - Passage-4

When Ibbotson returned from Pauri, | told him of the
leopard’s habit of going down the road between
Rudraprayag and Golabrai on an average once in
every five days. | convinced him that the only hope |
now had of shooting the man-eater was by siting over
the road for ten nights; for, the leopard would be
almost certain to use the road at least once during the
period. lbbotson agreed to my plan reluctantly, for |
had already sat up many nights, and he was afraid
that another ten nights on end would be too much for
me.

113. Ibbotson was reluctant to agree to the narrator's
plan because he was afraid that

(a) the leopard would kill him

(b) the narrator would become very tired

(c) the narrator would kill the leopard

(d) the leopard might not come

114. The narrator wanted to

(a) shoot the leopard

(b) see the leopard

(c) capture the leopard

(d) frighten the leopard
Official answer: 113:b 114:a

CDS (I) 2013 Set-A - Passage - 4

H gqrT fF a8 & Ui AT # S U R BEIRINT SR
TITERTE & §Te Aed R SiTaT &1 39 S e fpa fop
T A UNT IMEHER BT el TR BT THATT ST TH
Tt & g we® uR o off; FifP, I T 3% Aty b
SR ®9 | P9 P IR ASH BT SUANT HRAT AT
i gFm seaiea 7 arforesT ¥ A a1 7, i §
Ugel & 3 X< 40 b 2T, 3R N X o7 i 3k 7w <
R for aga it &

113. SeEICHT BATPR DI AIoHT ¥ FE9d 89 & forg
Sifereges o7 F1fH 0 % AT fp

(a) TSIT I AR SR

(b) FATATE TET A ST

(c) PATATEE TIFY BT AR T

(d) g3 TE Se

114, HATHR ATEAT AT
(a) TIGY T et ARAT
(b) <IST BT =T
(c) TgT BT g
(d) <IST BT ST

CDS (1) 2013 Set-A - Passage-5

Many poor farmers had been compelled to take up
indigo cultivation when the British settlers were
given the right to purchase and cultivate land in
India. Many whites, therefore, either acquired land
or advanced loans to poor farmers and pressurised
them to forsake the farming of food-grains and other
cash crops for indigo cultivation. Indigo export to
Europe was lucrative for the British settlers who held
a monopoly of this business. Within a few years,
most of the fertile lands had undergone forcible
indigo cultivation, resulting in a famine situation in
Bengal. When the farmers declined to cultivate
indigo, they were tortured, jailed and even killed.

CDS (I) 2013 Set-A - Passage-5

&% T fpT BT et Y BAr IR & forg ToreR fomaT
T o7 o9 fafeer ey @ yRa § o @9 @ik
Wt R T IR o T o | gwfery, &S M- A ar
ar S &1 3ifnergur foRar ar Mg fFam @ BT i@
IR 7 R g9 ST Y F AT H N & fow @
3R 37T AHS wHe 6 Wt Bl ¥ 1 R F sfem
frrafa fafeer FraRmay & fog smed® o, e a5
AT BT THIUGR AT | P & aui d, 3iferepier
SUSTes Y IR SeRT e A Sf B ol e
IRUTEaRY §Ter § 37ehrer Y Reafey der 8y €1 o9
et 3 et i At B ¥ w7 v, Y I+ IraAT
T, SeT F STeAT AT 3R T&T T fop AR o fe=r wm
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115. The poor farmers in Bengal took up indigo
cultivation because

the government encouraged them to do so

it was a money earning crop

they were forced to do so

this was the only crop that would grow in that
region

116. British settlers bought land in Bengal in order to
(a) introduce cultivation of cash crops in India

(b) cultivate indigo

(c) settle down in India

(d) promote export business in Bengal

117. Indigo export was profitable for the British
settlers because

(a) they had no competitors

(b) the crop yield was good

(c) they could oppress the farmers

(d) the labour was cheap

Official answer: 115:c 116:b 117:a

115. ST § TR it ¥ et Y Wit gaferq i
e

(a) ARBR 7 S+ AT BR b forq Miewnfee fepar

(b) TE U1 FH aTell BT AT

(c) S7€ VT R & g AoreR femarr

(d) TE THHTS HRTeT ot S S &1 F ST Al oY

116. fafeer frrarRm 3 dwmer & S @ISy

(a) WIRT & THET BRIl B WA [ B P fo1g
(b) et Fr Fft B & AT

(c) YRE H a7 oI & forg

(d) §TTeT ® I PRISR @Y sgmar 3 & fog

117. 3fe foraia fafeer frarfaay & forg amerRe or
i

(a) STT B ufevadf 7Y ar

(b) FRTT P YgTaTR 3T ot

(c) I AT UR 3ICATAR PR AP X

(d) S | AT

CDS (I) 2013 Set-A - Passage-6
The first day out we met our first rhino, two of them, and
| had the fright of my life. The pair had got our scent
before we spotted them, and being bad tempered
beasts, they rushed towards where they thought we
were. Now it just happened that we were about fifty
yards to one side of where they expected to find us -
which was just as well, for | must say | did not like their
look. As they thundered past, we crouched low and let
them go. It did not strike me as a good opportunity for
rhino photography. Anyhow | was much too frightened
to have been able to hold the camera steady.

118. From the above passage it appears that rhinos

(a) runaway when they see human beings

(b) rush to attack when they smell human scent

(c) hide under the bushes at the sight of human beings
(d) stand still if they are not attacked

119. When the author saw a rhino for the first time,
he was

(a) excited (b) frightened (c) charmed (d) surprised

120. The author could not take the photographs of the
rhinos because

he was too far away from rhinos

he was not carrying a good camera

it did not occur to him that he had a chance to do so

he did not like the look of rhinos

(a)
(b)
(c)
(d)

Official answer: 118:b 119:b 120:c

CDS (I) 2013 Set-A - Passage-6
ugel i &9 3ue uger g W R, o1 @, 3R H smuw
SiteT T e ST S 7E/H AT | SR Ul fob 89 S5
T, 76 AR e firet S off, SR qR W aTer SIFeR
B & A1, I 39 AR &S US OeT el AR AT fh g o |
39 g1 Y o &9 I OFTE | T 0T 16T ot g IR &
ST O B fireRT T IR o - Y 30T & o, mﬁﬁsqﬁ

sﬁmﬁﬁgﬁwmmﬂé’rwﬁﬁﬁﬁm
Y 3T 9¢, B9 T @ I IR S o AT | a8 g9
TSAY BICHITHY & 17 Ueh 31<0T AR &1 o1 | 3 W =%
BN & BIRUT H HR BT R T F SRTeH AT |

118. IURI TETeT A AT w2 & fop Ay

(a) AT Y I € 9T A F

(b) ST 9G¥ T YT & AT ST PR P fo1q QISel &
(c) FTsa bt e € smfeat & i fo o &

(d) @S B & 3R I UR EHAT 78T T STl &

119. 59 &GP = Tgeil IR Uep ST <@T, AT a8
(a) STHTTET oI (b) Wi o
(c) Horgrer &7 (d) 3marfafene o

120. AGH ST H TAR TET o BT TP

() aE ST agagr e

(b) SHP UTH 3TV HHRT T&T AT

(c) S VT YT &R fop S UTRT URAT =Y T HIhT AT
(d) S TSN BT AP IS TE AT
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CDS (1) 2013 Set-A - Passage-1

A well-dressed young man entered a big textile shop
one evening. He was able to draw the attention of the
salesmen who thought him rich and likely to make
heavy purchases. He was shown the superior varieties
of suit lengths and sarees. But after casually examining
them, he kept moving to the next section where
readymade goods were being sold and further on to the
hosiery section. By then, the salesmen had begun to
doubt his intentions, and drew the attention of the
manager. The manager asked him what exactly he
wanted and he replied that he wanted courteous
treatment. He explained that he had come to the same
shop in casual dress that morning and drawn little
attention. His pride was hurt and he wanted to assert
himself. He had come in good dress only to get decent
treatment, not for getting any textiles. He left without
making any purchase.

20. The young man was well dressed because
(a) it was his habit to dress well

(b) it was his wedding day

(c) he wanted to meet the manager of the shop
(d) he wanted to impress the salesmen

21. The salesmen in the shop are described as people
who pay attention to

(a) only young men and women

(b) pretty women

(c) only rich customers

(d) regular customers

22. The young man moved away to the hosiery section
because he

(a) was not interested in purchasing anything now

(b) did not like the readymade clothes

(c) wanted better clothes

(d) was restless

23. The manager asked the young man what he wanted
because

(a) he would give him exactly what he was looking for

(b) the salesman had drawn his attention to the
indifferent attitude of the young man

(c) he thought they could do more business with him
that way

(d) he thought the visitor was dissatisfied

24. The young man left without making purchases
because he

(a) did not have money

(b) could not find any item of his choice

(c) had come only to make a point about the
indifferent attitude of the salesmen towards
casually dressed customers

(d) decided to come to make the purchases later on

Official answer: 20:d 21:c 22:a 23:b 24:c

CDS (ll) 2013 Set-A - Passage-1

T T U 370 HUS T U e U qSt HuST b
SRIeT 83T | 98 AedHHT BT €A ATHAT P ¥ F&T
5T R I Y a8 SR & ok Tt et o T |
W T PT HUST iR Afsal @ Jeak e g wEi
g1 & ST8T YSHS WM =T S J8T A7 3R v emr
BISTY ST &Y 3R | 79 T, HewiT T ITP FRI&T UR
AT B qHT AT SR S FEUF FT A BT R |
T IA BT O 9% ad § 4T ATed 8 3R 6
IR f s g foee sgaeR =rean ¢ | SU g o a8
AT Hof3Ter SN H S GBI UR ST AT IR IAR fpst 71
ST TET T | S AR T 3 ugHt off iR aE St
g1 QAT ITEAT AT I8 3T HUS USTHY $hael IToT
IER UM & g T o1, A Huet o & fog 78 a8
T g RIS fope =T m

20. aP 7 3TV HUS T A FNfH

a) 3TV BUS UG SHHY Ieq oY
b) SHHI oS BT T o

c) €I P AR A frer arear o
d) g8 AeHAT DY TUTIIT HRAT 8T AT

21. TB & AewHT BT ST A & W F afdfe fpar mar &
Y e A &

a) PacT gaT 7o 3R AfEAE )

b) R Afged R

c) Paer 3R TED )

d) frafeaees =

22, A SIoN Aeer H Tl TR A1

a) 39 WS P WY T ¥ ferawdr T8 Nt
b) I T PUS T &I MY

c) SN IR BUS AT

d) 99T o7

23, yeYe 7 gaeb A BT % 78 4T aredr ¢ wife

a) I8 SN IaT T ORI S aaver off

b) ARTHT 7 Jad & IINA I I 3R IADT &
TR Ti fopaT o

c) SW N P T 39 aRE W SHP WY IR Ifp AR
PN THS &

d) S o & gad RAgE o

24. g TR A M w1 T it

a) WP U O TE

b) ¥ ST T Y P ey T Pt

c) d§ ATHRTH HUS UgH WEdl & URT AewdAT &
ISR 4T Y IR P=A $ AT 31w o

d) S RSN F AT 918 & 3119 BT thererT fpar
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CDS (1) 2013 Set-A - Passage-2

The prisoner awaited his chance. For three solid years
he had schemed for this opportunity. Now that escape
seemed so near at hand, those three years lost some of
their monotony. But he would never forget the lashes,
the close confinement, low diet, and worse still the
mental strain of those black days. Suddenly the warden
did what he had hoped. He stopped to unlock the lower
padlock. With a dull thud he slumped forward with keys
in his hands. Swiftly the prisoner seized his keys,
unlocked the cell and ran into the courtyard. It took him
four seconds to reach the rope-ladder secretly placed
there by his accomplices, five more to clamber over the
wall, and three more to jump into the waiting car to be
whisked away to freedom. Even though he was guilty,
the prisoner felt he had paid for his crime, for the man
he had robbed three years ago was still a millionaire.

25. For what crime had the prisoner been punished?
(a) Murder (b) Arson (c) Robbery (d) Kidnaping

26. When had the crime been committed?
(a) Just before the escape (b) Three years earlier
(c) Long ago (d) Day earlier

27. Who slumped forward with a dull thud?
(a) The millionaire  (b) The warden
(c) The prisoner (d) Prisoner’s accomplice

28. What did the prisoner suffer the most during
imprisonment?
(a) Poor health
(c) Physical torture

(b) Mental strain
(d) Absence from his family

Official answer: 25:c  26:b 27:b 28:b

CDS (ll) 2013 Set-A - Passage-2

HSY U= Hih BT SAWR PR I&T AT | A quf | S 39
AR Y AT g1 off | 3T I8 YA ST PR T
g1 o1 for I T auf &t vavwaT $8 g8 I@ W 8 T
AP T8 Pl FI 9R, 98 HREAN, HF IR AR T
ff 95 S et AT & 7FRTD T B i TEY erm
3E® arS A J& fopar forrdt S amer o ag frraer
qTel BT e & AT BepTl Y TSTeTEe & ATy a8 31U
gl 7wl aaR 3 it 3R Rawer | F T T I
Trferat B off, PIS%T BT drel WieT =T 3R T & wmr
T SN I AT FRT W S ¥ dgi G TE WAy
Teb Tge ¥ IR Nebs o, SR UR FG7 A Uie Acbs o,
3R TOIET &Y IR o 9T & {77 $aoIR &x W& PR &
HE 7 AT AP ol el &1 a8 ST AT, TR Bl BY o
foF S 31U SToRTY F oY AT R fora €, e R
Tt Y I <A ATl Tgel TfeT AT T8 3t off arsufer
ol

25. <) B foreT aruRTe & o1 Sfea fopar mam om?
() &AT  (b) AFTSFT  (c) Shal  (d) STUEROT

26. 3TURTY P fHAT AT 2AT?
(@) TR ASIF U (b) T AT Uger
(c)od (d) T R uger

27. 1Y TSTSTET & AT P AT RETepT 22
(a) PRYSUTT (b) aTET
(c) B (d) & 7 Awht

28. PRIATT & SRTT BT PT A AP FAT AT TST?
(a) TRIT TR (b) ARIE T
(c) MRS AT (d) 30 TRaR F srgafvafy

CDS (1) 2013 Set-A - Passage-3
Nationalism is only a curse when it becomes narrow and
fanatical. Like so many other things available to man,
say, religion, it can easily lead men astray. Nationalism
can lead people into thinking only of themselves, of their
own struggles, of their own misery. It can also cause a
nation to become suspicious and fearful of its
neighbours, to look upon itself as superior, and to
become aggressive. And it is when nationalism impels a
state to become expansionist and seek domination over
others that it becomes a positive curse and harmful
internationally.

29. From the passage, which of the following statements
most correctly reflects the opinion of the author?

a) Nationalism makes people self-centred and self-
conceited

b) It helps a nation to become superior to other
nations

c) Itregulates international relationships

d) It helps a nation to expand its territories and
become powerful

CDS (Il) 2013 Set-A - Passage-3
IregaTE T 3Tfiremy § e a8 Wehivf SR FER BT AT B |
TS & T S P 3 Goil Y aXE, o, o, I8
JTATT I AT BT HCHT AT g1 ISCATE AN DT paet
37O AR H, 37U Rl & wersf & IR H, 3 v 5 g9 &
IR ¥ A & v 9k FR AFar & | T8 I B IO
TSiIm & uftr Wy oiR wenfia 89, ge @1 98 A9,
3R MPME T BT HROT ot g7 FhaT 81 AR o9
Iregare fpvit qer B RRRaTsT a9 3R Ol o) g
FIT F & g IRT w=ar § O I8 (B AHRHAD
R g SI7ET & 3R TR R IR T hRS &
ST
29, YT W, fFrAfaRaa & A S A1 BUF ogH A I
Y TR TET & W Forfar 82
a) ISCATE AR BT STCHBI 3 STH-TRATY ST
g
b) TE TP IISC B 3 IS W AV 9 H AGE BT &
c) UT IARTSEIT el pr ferifdre aam &
d IE UF AT B AU & BT RRAR PR 3R
oTfepeITelt a1 § 7T BT &
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30. Which of the following phrases most correctly suggests

a)
b)
c)
d)

the central theme of the passage?
Nationalism and religion
Nationalism as an inspiration for development
Nationalism as a cause of war
Evils of narrow and aggressive nationalism

31. From the passage which of the following statements

a)
b)

c)
d)

Official answer: 29: a

can be assumed to be most likely to be true?

The author believes that nationalism is always a curse
He believes that it is possible for men to misuse
religion

He thinks that religion always leads men astray

He pleads for a mix-up of religion and nationalism

30:d 31:b

30. for=ferRaa & & i AT aTaRITeT RIS & R
fererar Y wY WET S A FIATA 52

a) IIEaTS 3NN o

b) famT & Qg IROT & wY H IvCATT

c) I P PRI S BY N IS

d) WHIVF 3R T ISEATE T IRISAT

31. YT | FrafaRad § & 75 wee & wea g9 Y
T 3MfYeh FUTGT I ST Aepal 872

a) gD BT AT ¥ O Iscarg gvem o sifremy
AT E

b) IF@T AT & P w7w & fog et @1 gewnT
AT 9T &

c) 95 Ao & o enf gem Asal @Y wewT AT §

d) 9% e ofi rsgaTs & frsior it TER e §

CDS (1) 2013 Set-A - Passage-4

Brown and his men, huddling round a fire, ate the last of
the food that Kasim had brought them that day. Cornelius

sat

among them, half-asleep. Then one of the crew

remembered that some tobacco had been left in the boat,
and said he would go and fetch it. He didn’t think there
was any danger in going to the creek in the dark. He
disappeared down the hillside, and a moment later he was
heard climbing into the boat and then climbing out again.

32. Consider the following statements:

1.
2.

3.

Brown and Cornelius sat round the fire.

Cornelius lay half-asleep at a little distance from the
fire.

All the people sat round the fire.

Which of the statements given above is/are correct?

(a) 1and 2

(b)2only (c)3only (d)1land3

33. One of them disappeared down the hill implies that
(a) the slope of the hill was slippery

(b)

he fell from the edge of the hill

(c) there was suddenly a sea beside the hill

(d)

34.

he walked down the hill

“He didn’t think..... in the dark”. This sentence

actually implies that he

(a)
(b)
(c)
(d)

was bold and adventurous

was addicted to smoking

would face some trouble

was the only person who knew where in the boat
tobacco was

35. What does the word “huddling” imply?

(a)

Moving around (b) Falling into a slumber

(c) Being close together (d) Merrymaking

Official answer: 32: c

33:d 34:c 35:c

CDS (ll) 2013 Set-A - Passage-4

TS AR ISP AR 7, AT F PE, I WIS BT
TR &= @ St 1faw 39 &7 Ieh o7 o em
3met g ¥, PRAferyd, 7 Ster Jo1 AT T =ATeTd o1 A
A TP BT IS JRT & 919 § P da1d @ T o, AR
I PeT 5 98 SR 3 o M@ | I &1 oFm 6
R H TS ¥ O ¥ IS TANT & | 98 UBISr ¥ AR
RIS 8 1T, 3R U et a1e S9SP A1d & g 3R i
TEx 3T Y STATST 37TS |

32. frrferfad weMT R AR Hifvig:

1. SIS 3R PI-{TaNT 3T & UTH 83 &

2. I 3TRT A TS T IR SATeT [T g7 AT
3. Y ANT ST B U S5 &

ST FUAT F F PH-AR W

(@13iR2 (b)Paer2 (c)Pacdr3 (d)13iR3

33. S99 W U UBTSt A S TR &Y 74T, SHhT dread
gfp

a) UBTSI Y ST fovaeteT uY ot

b) I8 UEEI & foFR W R T

c) STETE BT & T H T TS AT

d) 9% UgTSt W 13 IaAr &

"I TEI & o 3R A WIS A T F BrS TawT

& 3 99T BT aRad & aref ¥ fF

a) dg dics 3N ATET AT

b) € YHUT T TET AT

c) SN PO WA BT ATHAT HAT TS

d) a8 U@HTS cfth o S S o fop e & e
wer AT

35. "huddling" 276 BT FT AT 82

(a) STRT UTRT T (b) g & T ST

(c) TP TEX & HA BT (d) SmE-IAE

34.

Separate explanation videos are available in English & Hindi

s 3l B # srerer-3rerer difgAY et &

www.allinclusiveias.com |

UPSC/PCS | CSAT

Class-08 | Page-057 | @© Allinclusive IAS




CDS (1) 2013 Set-A - Passage-5

As soon as | saw the elephant | knew with perfect certainty
that | ought not to shoot him. It is a serious matter to
shoot a working elephant - it is comparable to destroying a
huge and costly piece of machinery - and obviously one
ought not to do it if it can possibly be avoided. And at that
distance, peacefully eating, the elephant looked no more

dangerous than a cow.

36. The writer was against shooting the elephant because
(a) he suspected it to be a wild one and was afraid of it
(b) his heart was full of compassion for animals

(c) he was certain that the elephant was innocent

(d) it would amount to avoidable waste of useful property

37. The author compares the elephant to a costly machine
because

(a) ivoryis very expensive

(b) it can do as much work as an expensive machine

(c) elephants look like big machines

(d) elephants and machines have similar prices

38. The elephant looked no more dangerous than a cow
because

(a) it was quietly doing its work

(b) unlike lions, it is a vegetarian animal

(c) its tusks resemble the cow's horns

(d) cows can be very dangerous sometimes

Official answer: 36:d 37:b 38:a

CDS (ll) 2013 Set-A - Passage-5

SRY & Y greft &t <, § q@ Ff¥raar & arer S o
25 7727 S Mell T8 AR 1Y | T BT B aTer BT
Y Melt ARAT T TR T & - T8 920 & & feremer
3R 7EN THS P T P F WK T - iR R &
SEN AT T HHT & AT GAT T AT AT | 3R 397 g8
q, onify A @T 3T A, R TR | ST "aRATE A8
ST IET AT |

36. gD &Y BT Melt ARA & Rgaire o1 FAifp

a) SN AIE AT P g STEN & iR S SRaT AT
b) STHT et TFERY & foAT HwoIT J =T AT

c) SUIA a1 P areht frcfor @

d) IE SUART Wufy HY aRerf gafdt & R @

37. o1 gTeft Y TeriT Qe et wefiT & & & Fifeh
a) mﬂmagam%

b) TE U A& Tl AT BT B FhelT &

c) el a<Y Fefiel Y avE fRmaar &

d) IR 3R 7= Y wo Fie &

38. g1} T | SATST GRS 81 fexaar o1 Faife
a) TE JUATY SUT P HY Y& AT

b) ORI & Ui, I8 Ua MHIERY SR §

c) TS I M & A Prert Feret &

d) T F-F TET WA B Tl &

CDS (ll) 2013 Set-A - Passage-6

| was very fond of the old soldier in our little town. He
had only one leg, having lost the other somewhere in
Assam in 1942. He used to tell me about his
adventures. He told me that he had run away from
home to join the army. He had experienced his first
battle in the Libyan desert. Out of his dozens of war
stories, the one | liked best was the one of his escape
from a Japanese prison-of-war camp in Burma. He told
me again and again how he walked two hundred miles
in two weeks. On the way he was bitten on the toe by
a poisonous snake and he had to cut off part of the toe
in order to survive. But by the time he got to an Indian
camp the wound had turned septic and the leg had to
be amputated. He is, however, quite contented with
his lot.

39. The author was very fond of the old soldier because
a) he had lost one of his legs in war

b) he used to tell the author about his adventures

c¢) he was contented with his lot

d) he had been to many countries

CDS (Il) 2013 Set-A - Passage-6

T3 IR BIC TR & g¢ AP A g7 QR AT | ITT
amaqzﬁa-\rm aw1942ﬁwﬁav—é’r@>rrrmmlag
@mm%m#mﬁlﬁ#gﬁmﬁi
ag AT & onfirer 8 & oY R 9 W & | SN
e & PR F Tgel! IR ASTS BT 3w fpar o |
I oI g P A W, S A TN 30T o, IF
T4t ¥ U AT g a5t RIfR W S5 wI Y o |
BT I IR-IR qar fF S I < wHTE F & At
Her 6t g TT Y oY | IR A I TP ST AT A R
& IS TR HIC for o7 3R 378 SHfae 367 & g R &
S BT FERAT PTeT ST o7 | AfehT o9 T a8 T
e RIfeR & uge, ara Aftesd & mar or &k &) &t
PICHT UST | FTeiIP, a8 STo= Rafy § aga AqE &1

39. o g A7 BT a8 eI o1 Fifep
a) wﬁu@'ﬁmwﬁ?@‘rﬁmm

b) % SR BT ST FIRATA 5 1R ¥ AT o
c) gg 3T Rafr 4 wgE o

d) a8 B3 A A ST T AT
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40. Why did the old soldier repeatedly tell that he walked
two hundred miles?

a) Heranaway from home to join the army

b) He had to cross the Libyan desert

c) He had to escape from a prison-of-war camp

d) He was a strong soldier

41. The story of the old soldier that the author liked most
was that about

a) his running away from home to join the army

b) his first battle in the Libyan desert

c) theloss of his leg in Assam

d) his escape from a Japanese prison-of-war camp

42. The old soldier, according to the author, was
(a) unhappy about his life (b) satisfied with his lot
(c) angry about his fate (d) disgusted with his misfortune

43. The soldier’s leg had to be amputated because

(a) he had walked two hundred miles in two weeks

(b) he was wounded in war

(c) the wounded toe turned septic

(d) he was shot in the leg while escaping from the
Japanese camp

Official answer: 39:b  40:c 41:d 42:b 43:c

40. 93 A% T IR-IR FAT PeT 6 7€ 3 Wit Aer e ar?
a) I8 QT H onfieT 8 & foTT eR ¥ wrm e

b) SN AT F IR BY IR HRAT o7

c) TBIE P TP el RIRR A WFm o7

d) 9% U Aorad Al oT

41. 3¢ A Y T A AEE B FIH ST THS
3T$ g oft

a) QT H w89 & foTT SHST O | 9YRMET

b) N & RRA F IAHT U TS

c) RT3 IR BT JbATT

d) U@ ST g 9t RIfeR & St T

42. oRIP P NN, IaT AfTed
(a)mﬁhawﬁa@w (b) ST Y T S FE AT
(c)mﬁ’rﬁﬂwﬁaﬁfﬁaw (d) 31 g ¥ frer o

43. 3w & TR P BreT UST FAIRE

a) 9% S WHTE & a1 WY el e o7

b) aE g ¥ =TI & T AT

c) I R T ST Wited & T oA

d) ST RIRR I AT W I 4R 3 el ot off

CDS (ll) 2013 Set-A - Passage-7

A large number of people had come to attend the
meeting to be addressed by the gifted speaker. The
organizers had a difficult time keeping the assembled
people quiet as the meting did not commence at the
scheduled time. After some time the people lost their
patience and began to shout and heckle. The organizers
had great difficulty in assuaging the anger of the crowd
when they were forced to cancel the meeting as the
speaker had to be hospitalized due to sudden illness.

44. What was the actual reason for the organizers to
have a difficult time?

(a) alarge number of people had come to the meeting

(b) the organizers could not make proper
arrangements

(c) the meeting could not be started in time

(d) the speaker was ill

45. What does the word “assuaging” imply?
(a) accepting  (b) tolerating
(c) reducing (d) removing

46. Further delay resulted in the people
(a) leaving the place

(b) fighting with the organizers

(c) making noise

(d) making the speaker ill
45:¢

Official answer: 44:c 46:c

CDS (Ill) 2013 Set-A - Passage-7
TfTITeITel awhT FRT Wiy Y o & o7 do@ &
TS =T ¥ AR efirer B 31T AN TSI PY 3B
AR @Y i @ ¥ qfieer g8 wife Yo FrafRa
Wq'\faﬂﬂ'é’rss‘sﬁl wmaﬁaﬁﬁ#:ﬂwéﬁ
@ﬁmsﬁ?ﬁmaﬁ?mmeﬁmﬁm
STASTT BT WS B TR BT AT P A TS PSS &3
O S HOgY § 43 Y& BT G F{ifp IraATTh
TARY P PROT TP DY IRUTT T Wil BT TST AT |

44. TSI & feTg qfReet WH T ARt IR FT
2T?

a) Yor i dEriATugT Y

b) YT SR v TE R T

c) HIfET T U= URY & it ST FAH

d) TWRIARY

45. "assuaging" 2Tsg BT T Aol 872
(a) FNBR HAT  (b) IFeT HIAT
(c) B BRAT (d) g™

46. 3R I & gRUTFETHY AT
a) OFE BISHY o oft

b) SIS & AT ASH Rl
c) R TAM e

d) TR P TR 9H T
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